H £ 0l & AF & S

Al A

SN 2EERRID
3 29y Hs((2A/22498)
Rl ZEE o2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g2 20,189,001 33,065,322 12,876,321
= 4,179,205
Jl 8,627,588
Al 7,382,208
2HY HE(2AH/22498) 19,581,611 32,504,346 A12,922,735
= 4,179,205
7l 8,609,190
Al 6,793,216
g olg2el 19,581,611 32,504,346 N12,922,735
= 4,179,205
Il 8,609,190
Al 6,793,216
gt 249 A 650,000 600,000 50,000
= 303,500
Al 346,500
307 lztol & 650,000 600,000 50,000
= 303,500
Al 346,500
05 21t =S 650,000 600,000 50,000
ozggaclat =29
650,000,000 650,000
= 303,500
Al 346,500
g AIRY SX= 12,000 12,000 0
201 =3 12,000 12,000
01 At22t2lH] 12,000 12,000
OZgdaAcINI T AR X2
1,000,000& «12& 12,000
224 AIZRIHY2AH ALY 2F 99,000 0 99,000
308 AXIHSOIA 99,000 99,000
01 XN BSELES 99,000 99,000
OAl L2 H AAE 75
1,650,000 *5IH A x 12 99,000
SAAZRACAE 610,367 604,100 6,267
Jl 396,059
Al 214,308
203 gF=4| 600 600
03 A=A =] 600 600
OZdiacAg 2te3l 600,000 600
307 elzto| & 62,712 70,004 ANT,292
Jl 31,356
Al 31,3%
02 2B YA R E A 62,712 70,004 NT,292




A 2|
ZE: el (S(22A/2AYE)
Rl ZEE o2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSHA FHEX A & &EX2
62,712,000 62,712
| 31,356
Al 31,3%
308 AXISHMSOIA 547,055 533,496 13,559
| 364,703
Al 182,352
01 IXSHHBMEXRS 547,055 533,496 13,559
OLAHEA CHat AR
11,595,000& 11,595
| 7,730
Al 3,865
OBAHA S BTt 22 X&
358,761,000 358,761
| 239,174
Al 119,587
OZH dstxAt S 61,500,000& 61,500
| 41,000
Al 20,500
OZ S IIEEER M
21,713,000 21,713
J| 14,475
Al 7,238
ORHDIIE S FHUHS 28 U H=2
2 22| 62,202,000& 62,202
| 41,468
Al 20,734
O==SAd SAHAH 529 28248
31,284,000 31,284
J| 20,856
Al 10,428
ol D2 ZelERt 22| X3 294,120 289,192 4,928
| 294,120
308 AHXIHMSOIH 294,120 289,192 4,928
J| 294,120
01 IXSHHBLERS 294,120 289,192 4,928
O9=J|2 ZSHERt 2te| K&
294,120,000 294,120
| 294,120
DI RIETAL 136,700 136,700
307 212+01 A 136,700 136,700
02 QIRHEAAIH B X 136,700 136,700
Ostul2te| At X & 57,700,000& 57,700
OZsae|Atg X3 79,000,000 79,000
ABSZEE YAXNZHL &FE KA 125,000 138,000 A 13,000




SN 2EERRID
M 2EY UsS(EH/2H8)
oelr 23Y o2l (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 125,000
307 212+01™ 125,000 138,000 A 13,000
| 125,000
02 QIZtAAAIEER 125,000 138,000 A 13,000
OUZAAY YAKZHL HE 8K
125,000,000& 125,000
J| 125,000
A 2FY dAX = 6,000 10,000 24,000
= 3,000
Al 3,000
307 212+01™ 6,000 10,000 24,000
= 3,000
Al 3,000
01 22¥¢+=H| 6,000 10,000 24,000
Odgg ek Aelxli=| 6,000,000& 6,000
= 3,000
Al 3,000
D2LH9 &k Helxlzdl K& 350,500 919,436 568,936
= 227,000
Al 123,500
308 AHXIHMSOI & 350,500 919,436 568,936
= 227,000
Al 123,500
01 X SHBAEERS 310,500 919,436 608,936
OIDZLH9 AelY X =]
310,500,000& 310,500
= 207,000
Al 103,500
1 SI2SHHEH B AR L{E AL 40,000 0 40,000
OZ2LH9 MEXI =Y 40,000,000 40,000
= 20,000
Al 20,000
olzHAUIY T2 AXA 29 76,000 74,000 2,000
J| 76,000
308 AXIHMSOIN 76,000 74,000 2,000
| 76,000
01 XIXISHHBAE LS 76,000 74,000 2,000
Oflz2ddgy HEZAIXMA 29
76,000,000 76,000
| 76,000
ol éHAIY TE2ZAIMA S (M%) 2,000 1,500 500
| 2,000
201 LB-2AY| 2,000 0 2,000




SN 2EERRID
3 29y Hs((2A/22498)
el 288 oz (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 2,000
01 AtR2t2|HI 2,000 0 2,000
Ocizaed 2y HE2A 2 (ME)
2,000,000& 2,000
Jl 2,000
IHYES &Al 11,312,194 12,926,803 1,614,609
Jl 7,540,263
Al 3,771,931
203 =4l 1,800 1,800
03 A=A 2= 1,800 1,800
OngES gd=d 1,800,000& 1,800
308 XXM SOIA 11,310,394 12,925,003 1,614,609
Jl 7,540,263
Al 3,770,131
01 HXEHH B E2ES 11,310,394 12,925,003 1,614,609
O0elol IgES 5,913,450,000& 5,913,450
Jl 3,942,300
Al 1,971,150
O0el0ld FXEY & =S5d 2IEZ=
At 1,318,350,000& 1,318,350
Jl 878,900
Al 439,450
Osserd(1atd) ISRkt
187,800,000 187,800
Jl 125,200
Al 62,600
Ol USRAUX} 55,950,000 55,950
Il 37,300
Al 18,650
odol HgEs 3,667,594,000& 3,667,594
Il 2,445,063
Al 1,222,531
OBE2HE =& 280
13,800,000 13,800
Il 9,200
Al 4,600
OHV oIgE S 153,450,000 153,450
Jl 102,300
Al 51,150
HYBSSSHE =29 122,580 120,510 2,070
Jl 81,720
Al 40,860
308 AXIHSOIA 122,580 120,510 2,070
Jl 81,720




SA Zggaeln
3 29y Hs((2A/22498)
oelr 23Y o2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 40,860
01 HASHHBSEEXS 122,580 120,510 2,070
OHLEESENH =29
122,580,000 122,580
Jl 81,720
Al 40,860
FIE2A2I2 LTS Al 5,313,000 14,544,166 A9,231,166
= 3,542,000
Al 1,771,000
308 AHXIEMSOIH 5,313,000 14,544,166 29,231,166
= 3,542,000
Al 1,771,000
01 HRHHBSEEXS 5,313,000 14,544,166 N9,231,166
OZZ2LH9 K22 LTS AR
5,313,000,000& 5,313,000
= 3,542,000
Al 1,771,000
Ha=Za HgEs X 151,067 150,814 253
307 elztol & 151,067 180,814 253
02 LB HAHE L 161,067 180,814 253
OFSAHE HaED HEES X2
151,067,000& 151,067
FRISY H2HAl 28,880 25,760 3,120
= 14,440
Al 14,440
308 AtXIEMSOIE 28,880 25,760 3,120
= 14,440
Al 14,440
01 XN EES 28,880 25,760 3.120
O=F2ZE H=2ZAJ[2 X2
28,880,000 28,880
= 14,440
Al 14,440
o= & g0 XA 2 116,180 124,566 A\8,386
) 77,453
Al 38,727
308 AtAIEHMSOIE 116,180 124,566 A\8,386
Il 77,453
Al 38,727
01 XN EES 116,180 124,566 28,386
OO0IoI =& Xt & =] 80,477,000& 80,477
7l 53,651
Al 26,826




SN 2EERRID
M gy HS(EH/BA98)
el 2 ozl (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OdDiHZEdE JSHAIF S0H
16,679,000 16,679
| 11,119
Al 5,560
OOIOIE &IEHAISF 20K 19,024,000& 19,024
| 12,683
Al 6,341
GIOI= Ol 2el At 12,000 12,500 AB00
308 REXISHMSOIH 12,000 12,500 AB00
01 AXIEHBAEES 12,000 12,500 A500
OO0lI0I= tlZ2tel Ak 12,000,000& 12,000
SHHIZHOI Y2 FEH2 H X R L MOt O 4 H B K& 11,250 8,664 2,586
= 5,625
Al 5,625
308 AXIHMSOI& 11,250 8,664 2,586
= 5,625
Al 5,625
01 AXEHILEES 11,250 8,664 2,586
OTHOtStAlel MAHHIXI& 11,250,000 11,250
= 5,625
Al 5,625
SHAICITIIGHAIA R A EAL & 22X & 83,640 79,560 4,080
= 83,640
308 AAXISHMSOIN 83,640 79,560 4,080
= 83,640
01 IXSHHBAEES 83,640 79,560 4,080
Ostdlol oAt oAt P2 K&
83,640,000& 83,640
= 83,640
MBHHZSUHSRE WS & SEX&] 7,050 9,750 A2,700
| 4,700
Al 2,350
308 AHXIHMSO0I& 7,050 9,750 A2,700
| 4,700
Al 2,350
01 AXSHHBMNELRS 7,050 9,750 A2,700
OMZHHE&AB(212) 2,550,000& 2,550
| 1,700
Al 850
OMEH AZ=&HI(HA2) 4,500,000 4,500
| 3,000
Al 1,500
MEHAZSUSRE Mo B5= 2| XI& 13,063 19,200 A6,137




SA Zggaeln
3 29y Hs((2A/22498)
Rl ZEE o2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 8,375
Al 4,688
201 er23| 2,000 0 2,000
Jl 1,000
Al 1,000
01 At2teltl 2,000 0 2,000
OMSHI2! HHelEBS=S FHI(HIEC)
2,000,000 2,000
Jl 1,000
Al 1,000
308 XXM SOIH 4,500 0 4,500
7l 3,000
Al 1,500
01 XN B E2ES 4,500 0 4,500
OMSEI HelB5= TH| X2 (320)
4,500,000& 4,500
Jl 3,000
Al 1,500
403 AXIEHMSAH=Z01d 6,563 0 6,563
Il 4,375
Al 2,188
01 XIS A =2 6,563 0 6,563
OMSHI HAESS YLl X (2NEA)
6.,563,000& 6.563
Jl 4,375
Al 2,188
ASZEYE 012 HEEH 7,000 7,000 0
) 3,500
Al 3,500
201 fet= 3| 7,000 7,000 0
Il 3,500
Al 3,500
01 AtR2tc|Hl 7,000 7,000 0
Oget=ZH] 7,000
oXISMHESHZ Y 22| e
7,000,000& 7,000
Jl 3,500
Al 3,500
ASIZAL 2tef 42,020 46,715 N4,695
201 fet= 3| 27,420 31,140 A3, 720
01 AtR2te|HI 23,300 22,700 600
Oxtgag = 7,200
0 HEIZALE Xt X
7,200,000 *1CH 7,200
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A g2
. HY2IA-(Z2BH22 ) (OIEHIIE
el i Eg| (Gt H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
0 ¥ItB a|
3,786, 5002 x86%+84%+(1/30) *(1/7) *60 Al 22X
1,564
o= 5,660,000& 5,660
OARIEHAIIN Cle SR 2+ 236,057
o= 3,298,530R *5H 128 197,912
o SFHRLY 158,320& 5%« 122 9,500
o ZUZAlH| 140,000 x5 * 123 8,400
o HIIE &tH|
3,298, 5002 *86%+84%+(1/30) *(1/7)*60 Al 2H5H
3,405
olASE 16,840,000& 16,840
OAZIEEHIADIN etg B+ 5,94
0 SFHRLY 139,510 x1H 123 1,675
o ZBUZAlH| 140,000 x1H* 123 1,680
o HIE &t
2,906, 5002 *86%+84%+(1/30) *(1/7)*60Al 2H1H
600
oANAHS 1,999,000& 1,99
O(IIH) =224 52,785
o LEHAIIHI
14, 44621+ 1G*42A| 2Hx 123 7,281
o AZHHERRIZ DI L2
12, 213 =2H*42A| 2t 123 12,420
oAIRZHEEHIADIN T2
11, 1302 x5 *42A| 2t 12 28,048
OAIZHHERRIZDIN 2t
9,992 1H*42A1 2+ 123 5,036
OP === 780,000 =123 9,360
204 AP AY| 16,171 6,878 9,293
02 AZExH] 16,171 6,878 9,293
O(IIN) MN28=xHI 16,171
OAIHHERRIZDIN LiZ
218, 7503 x2H x 122 5,250
o AZHHERRIZ DA T2
153, 120&+5F 128 9,188
OAIZHHERHIADIN 2t
144,370+ 1Hx 128 1,733
JlE2al 57,508 110,692 A53,184
J|1E23&| 57,508 110,692 A53,184
201 L2 | 29,808 62,392 A32,584
01 AtR2telt] 29,808 62,392 A32,584
OJ|Z2Ar222|d| 20,000 =158« 12& 3,600
O=tl 20,736,000 20,736
OSAD| gXt= 5,160,000& 5,160
OF=)| gtz 312,000& 312




A gt
. HY2IA-(Z2BH22 ) (OIEHIIE
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 19,900 39,900 220,000
01 =WHO4bI 19,900 39,900 220,000
O=LH04HI 19,900,000 19,900
203 PYRF=&IH| 3,600 4,200 AB00
M EAM2IHRFA| 3,600 4,200 600
A2 HRF=EHI 3,600,000& 3,600
204 ZR oA 4,200 4,200
01 MM Z R+ AL| 4,200 4,200
oZggze|ntE 4,200,000 4,200




